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4 L IR - WAKTiE By B = B {f oo ) =
BRI 38, 670, 744
IR RERERBERE 38, 670, 744
IR RERERER 38, 670, 744
BEEALE 35, 204, 160
IR RERERER 34,512, 960
1 BMIRRREREHERD EERME 24.00 35, 840 860, 160
A
2 MIRREREHERQ BLEiTE 24.00 1, 402, 200 33, 652, 800
A
&t 614, 400
3 HAE 24.00 25, 600 614, 400
[B]
g - |mE 76, 800
4 i - |E EFEE, PR, ERTTE 1.00 76, 800 76, 800
%
EiERE 3,466, 584
EXRRE 336, 528
5 EXARE 1.00 336, 528 336, 528
=
BHERARE 673, 056
6 EEHERARE 1.00 673, 056 673, 056
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% L] R - RARSTiE BfL % 8 B ® # m =
EBREBEENE S UVEGRES 2, 400, 000
1 EBAEDEENE L VEGES 1.00 2,400, 000 2,400, 000
=
EBRERE 57,000
8 FHEMEME 1.00 57,000 57,000
=
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% g R - KSR Bifr B 2 B i & B W =
BRI 35,204,160 + 3,466, 584 38,670, 744
BEEAGE 35,204, 160
BE#RE 3,466, 584
T DR 35,204,160 x 42.86% ( 30% = (1 — 30% ) ) 15, 088, 502
BRI 38,670, 744 + 15,088, 502 53, 759, 246
—REEES 53,759,246 x 53.85% ( 35% + (1 — 35%) ) — 8,599 28,940, 754
KBS 53,759, 246 + 28,940, 754 82,700, 000
HETREALE 82,700,000 x 10.00% 8,270, 000
EBEREN 82, 700,000 + 8,270, 000 90, 970, 000
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&5 1
£ BT ARERSEEMERD TEHEME 1A&Y
2 b g - BIRTE BT H = B O %8 W = " =
TEEMNE HEm (A)
A 0.70 51, 200. 00 35, 840
& Hi S .00A 35, 840. 00 35, 840
&5 .2
& BITKRERSEHIERQ HEUEME 1A&4Y
2 b g - BIRTE BT H = B O %8 W E " =
e e HEm (C)
= 1.00 1,402, 200. 00 1,402, 200
& Hi 1E%HED - 1.008 1,402, 200. 00 1,402, 200
5.3
&% TAEE HEED)
2 b g - BIRTE BT H = B O %8 W E " =
TEEMNE HEm (A)
A 0.50 51, 200. 00 25, 600
& Hi 1YEZHER - 1.00[E 25, 600. 00 25, 600
F5 . 4
£ HEE - mE EFEH. DR EBETTH 1LY
2 b g - BIRTE BT B = B Ol %8 W = " =
& FHF HEm (A)
A 0.50 51, 200. 00 25, 600
o el B e (A)
A 0.50 51, 200. 00 25, 600
EBTTH HEm (A)
A 0.50 51, 200. 00 25, 600
& Hi 1E%HeH - 1.00K 76, 800. 00 76, 800
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&% EHARE 1LY
2 b g - BIRTE BT o = B O ® W = " =
EXERARE
= 1.00 336, 528. 00 336, 528
& Hi 1YE%HeRH 1,00 336, 528. 00 336, 528
ES .6
2% EERERRE 1LY
2 b g - BIRTE BT H = B O ® W E " =
BERBTEARE
= 1.00 673, 056. 00 673, 056
& Hi 1E%HeH - 1.00K 673, 056. 00 673, 056
&5 .1
£ EBABHEENBS L VEGRES 1LY
2 b g - BIRTE BT H = B O ® W E " =
EEREDEERB L NELRES
= 1.00 2,400, 000. 00 2, 400, 000
& Hi 1E%HeH - 1.00K 2,400, 000. 00 2, 400, 000
5.8
2% EBHRRERE 1LY
2 b g - BIRTE BT #H = B Ol ® W = " =
EBHRERERE
= 1.00 57, 000. 00 57,000
& Hi 1E%HeH - 1.00K 57, 000. 00 57,000




